H & 0l & AHS B Ml A

SA - HY - S9I(3) - HIRAY - BAS o &r 7| 3 o HDS2
Arel S X110t 39,500, 197 39,117,489 382,708
= 21,117,480 21,287,478 169,998
[ 819,210 819,210 0
Jl 37,000 37,000 0
= 700,000 700,000 0
s 3,641,670 3,674,991 A33,321
o 13,184,837 12,598,810 586,027
AEI=X JlgtEd 2,791,565 2,939,924 148,359
= 34,360 34,360 0
[ 553,960 563,960 0
T 256,401 256,401 0
o 1,946,844 2,005,203 148,359
=t 28 2cl € A& 1,453,256 1,514,601 A\61,345
= 191,580 191,580 0
i 1,261,676 1,323,021 N\61,345
SEUYA e 2 X2 836,612 856,260 19,648
301 EetE NS 684,112 699,260 15,148
03 A2 E A4S (XL THH) 683,900 698,300 214,400
OFE=SHIA 674,400 688,800 214,400
—HHRSA o=
80,0002 x285E « 12 273,600 288,000 A 14,400
11 dALEBIXNIE S 212 960 AT48
OFsHNd s 24g3 212 960 AT748
307 212t01 & 162,500 157,000 24,500
04 QIZHHAMAIH 2 £ 4,500 9,000 4,500
OE=It= stitstial 0 4,500 4,500
2E2312 28 2 44,300 48,400 A4,100
201 er=3| 43,700 47,200 A3,500
03 A2 b 2,500 6,000 A3,500
OE&ItE H2ud 28 HA==g
50,000& *5A12+%102] 2,500 6,000 A3,500
301 EtE N = 600 1,200 2600
11 dALEBIXNIE S 600 1,200 2600
OE20t5 AZuwd HIHA}F 2HA 600 1,200 A600
22AE 2| 9,988 11,011 1,023
101 21AH| 1,486 2,501 1,015
04 JIZtN2Z2XNSE+ 1,486 2,501 A1,015
OEH & SANE FH & MAHE &
Bl 1,486 2,501 A1,015
— ol 1,486 2,476 2990
—tHEEs 0 25 VAV
201 Zet=3h] 992 1,000 A8
01 AtR2t2|HI 992 1,000 A8
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A -3 - SRA(3) - MRAY - BES Ofl &F2R 8 A BluEZ

EEEEEE 902 1,000 18

MNEISSRE XIS 2 HetAte) 362,376 388,950 738,574

301 YerER 32,376 388,950 738,574

WREECEEEINE 362,376 388,950 736,574

OMNBIZ2RRE Q12(2H| (2 2 HEAY) 362,376 388,950 736,574

— A () 17,346 53,920 36,574

NENCEEEIEEEE 1,188,850 1,267, 124 AT8,274

2 553,960 553,960 0

= 60,580 60,560 0

= 574,310 652,584 AT8,274

EREEEEE 12,068 38,800 A2B,734

201 ek | 2,000 24,500 222,500

03 A2 b 0 22,500 A22,500

OAMBISTIAIL SAIR L &olnl 21 &

B 0 22,500 A22,500

202 04| 566 840 A274

01 ZLHOIHI 566 840 A274

OSXSHHZEI} Al - & DR BA B4 326 600 A274

208 2LEZY 9,500 12,500 3,000

R ESIEEEESE] 9,500 12,500 3,000

OFgMEN g2 7 9,500 12,500 3,000

301 YerERZ 0 960 2960

11 BAAHI X2 2 0 960 A960

Og2 AsI=T 2l 0 960 960

EREEEEENEE 34,080 46,080 A 12,000

308 Zara 0 3,400 3,400

01 ZA2 0 3,400 3,400

OS2I S0 241 AL 0 3,400 3,400

—F|24 0 1,500 A1,500

- 0 900 A900

— &2 0 1,000 1,000

307 Q12H0IH 5,000 13,600 8,600

04 QIZHAIAI 0 8,600 8,600

OZB2NAABISEE I L2008 0 8,600 8,600

NeiAsl 2 aEoAR 2% 245 43,099 42,984 165

= 7,177 7,177 0

= 3,922 3,757 165

101 1248 3,825 36,404 421

= 6,070 6,070 0

= 30,756 30,334 421

03 2RE(LI|Hf) 22 N2+ 3,825 3,404 421

oJ123 26,921 26,665 256
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SA: AR =X
M ARSIl JIBEE
el NASA 83 A

SA - B SA(3) - MRAY - BES 0l aroy | H o HimE=ET
| OX=ZATE &K A6l 2A(EIINE) 0 4,000 4,000
R ZAEE s K () 16,720 19,960 3,240
201 ger2 | 3,720 6,960 3,240
01 Al 22lb| 3,720 6,960 A3,240
ONEZSAHE &40t H=
60,00021* 17 1,020 960 60
ORI M2 22 0 2,200 £2,200
ORI ZAITIS] B I 0 1,100 AT,100
20| ZMEEH 16,569,500 16,543,200 46,300
2 13,260,282 13,219,532 40,750
2 80,159 80,159 0
= 1,511,340 1,506,001 5,249
2 1,737,719 1,737,418 301
EEPERNE TR 14,050,821 14,017,021 33,800
= 11,141,114 11,109,114 32,000
2 58,664 58,664 0
= 1,402,904 1,398,904 4,000
2 1,448,139 1,450,339 £2,200
IZMERE £33 N 8,800 15,000 8,200
301 Zereda 8,800 15,000 26,200
02 AFSl 2B HSHS(HHS, XNLMR) 8,800 15,000 26,200
OJIZMELESTT 22018 L HBsS
HIS 200, 00024672 +50% 6,700 12,000 5,300
OJIZMERHLTN NHS #S Zi2
NED 300,000 572 2,100 3,000 A0
N30 g 2,168,463 2,128,463 40,000
= 1,734,770 1,702,770 3,000
= 216,846 212,846 4,000
2 216,847 212,847 4,000
301 Yere A3 1,368,463 1,328,463 40,000
2 1,004,770 1,062,770 32,000
= 136,846 132,846 4,000
2 136,847 132,847 4,000
01 ABIZERAH2(2DLEE) 1,368,463 1,328,463 40,000
FAH320 1,368,463 1,328,463 40,000
2 1,004,770 1,082,770 32,000
= 136,846 132,846 4,000
2 136,847 132,847 4,000
NEPET 2,538,679 2,56, 179 12,500
2 2,119,168 2,110,418 8,750
2 21,49% 21,49 0
= 108,436 107,187 1,249
2 289,580 287,079 2,501




2A:
X XH -
o e

=aak

N
20| ZMEHE

=1L o
A X2

SA - BB SRA(B) - NRAY - B2 il v ol ® o DS

KNEAedye 249 353,124 340,624 12,500

= 247,187 238,437 8,750

S 35,312 34,063 1,249

= 70,625 68,124 2,501

307 gIztol 353,124 340,624 12,500

= 247,187 238,437 8,750

S 35,312 34,063 1,249

= 70,625 68,124 2,501

10 AlRISXAIZEHE 22X 353,124 340,624 12,500

OX<GXEHEH 22| 353,124 340,624 12,500

= 247,187 238,437 8,750

= 35,312 34,063 1,249

= 70,625 68,124 2,501

MASE H&otd XA 1,647,643 1,640,463 7,180

= 592,900 586,900 6,000

s 185,091 185,091 0

| 37,000 37,000 0

L= 223,134 220,734 2,400

= 609,518 610,738 21,220

MASE Moty K& 1,647,643 1,640,463 7,180

= 592,900 586,900 6,000

s 185,001 185,091 0

| 37,000 37,000 0

L= 223,134 220,734 2,400

[ias 609,518 610,738 A1,220

ASENXE 29 3,100 10,000 6,900

301 LEIEE S 3,100 10,000 26,900

02 AISI 263 (FAAS, RYTHR) 3,100 10,000 26,900

OzZd=s Retss 3,100 10,000 26,900

SEAtAIZ2IAL o11H] XI& 275,604 270,564 5,040

s 101,628 101,628 0

L= 10,163 10,163 0

i 163,813 158,773 5,040

101 Q1244| 249,540 244,500 5,040

s 90,348 90,348 0

S 9,035 9,035 0

= 150, 157 145,117 5,040

03 SR (I 22 HE> 249,540 244,500 5,040
OSErAtallZel At 2124

2,270,000 6« 128 163,440 158,400 5,040

s 79,200 79,200 0

S 7,920 7,920 0

i 76,320 71,280 5,040




SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
= g0 46,000 44,000 2,000
= 46,000 44,000 2,000
301 22N = 46,000 44,000 2,000
= 46,000 44,000 2,000
01 AIBIEE A GIS (2 REXTE) 46,000 44,000 2,000
ONMASE 2= I &bl 46,000 44,000 2,000
= 46,000 44,000 2,000
TZ2LH9 MEX|RH| XJA 219,800 211,800 8,000
= 109,900 105,900 4,000
= 65,940 63,540 2,400
[ias 43,960 42,360 1,600
301 LENZ 219,800 211,800 8,000
= 109,900 105,900 4,000
s 65,940 63,540 2,400
s 43,960 42,360 1,600
01 Al EE A GIS (2 REXTHE) 219,800 211,800 8,000
OZZ2LH9 Mt X 24| XI&(1,255%) 219,800 211,800 8,000
= 109,900 105,900 4,000
S 65,940 63,540 2,400
= 43,960 42,360 1,600
Lsd&0 24 10,040 11,000 2960
405 XHAHE SHI 2,040 3,000 A960
01 TR ESF SHI 2,040 3,000 2960
Oultsd&ail 7 680,000 +3CH 2,040 2,800 AT60
odgd g 0 200 2200
Zoje!l SX sa 14,950,455 15,337,957 A387,502
= 7,229,938 7,446,686 A216,748
= 700,000 700,000 0
= 1,650,795 1,691,765 N40,970
s 5,309,722 5,499,506 A129,784
oHeI=X & 14,950,455 15,337,957 A387,502
= 7,229,938 7,446,686 A216,748
= 700,000 700,000 0
& 1,650,795 1,691,765 A40,970
= 5,369,722 5,499,506 A129,784
ZOHRI =S XIAHS 12,006 12,434 N428
301 22N = 1,772 2,200 N428
11 EAAHIXIRS 1,772 2,200 A28
OFHI2EH AL ZOtE Y gr2 1,400 N428
=L (0Ix) X2 409,700 439,700 /30,000
= 286,790 307,790 /21,000
S 36,873 39,573 A2,700
[ia 86,037 92,337 26,300
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o e

=aak

Ar2l = X 2t
el =X s8
Foe=X s

S - BE - BI(3) - NRAY - BAS O] a0 ol H o CImE==
301 LetENEZ 409,700 439,700 230,000
= 286,790 307,790 221,000

= 36,873 39,573 22,700

= 86,037 92,337 26,300

01 AISIEE A 6IZ (S REX ) 409,700 439,700 230,000
O (Ix)(546%H) 409,700 439,700 230,000
= 286,790 307,790 221,000

= 36,873 39,573 22,700

= 86,037 92,337 26,300

oS (XHa=1) K= 268,523 263,523 5,000
= 187,966 184,466 3,500

= 23,942 28,717 225

= 56,615 55,340 1,275

301 LEBEF 268,523 263,523 5,000
= 187,966 184,466 3,500

& 23,942 23,717 225

= 56,615 55,340 1,275

01 MBI EEHGI2(FREZTHA) 268,523 263,523 5,000
OX =S (436, Xtatel S) 268,523 263,523 5,000
= 187,966 184,466 3,500

= 23,942 23,717 225

ik 56,615 55,340 1,275

AT N o SUSEAH| K& 35,000 50,000 215,000
= 7,000 10,000 A3,000

= 28,000 40,000 A 12,000

301 LEBNEF 35,000 50,000 A 15,000
= 7,000 10,000 23,000

= 28,000 40,000 A 12,000

01 AISIEE A 6IZ (S REX ) 35,000 50,000 A 15,000
OdlIZEOe! o|=Hl XA 35,000 50,000 A 15,000
L= 7,000 10,000 23,000

= 28,000 40,000 212,000

ZoHel EsXd 20 X 4,889,962 5,270,297 A380,335
= 3,422,973 3,689,208 A266,235

& 440,097 474,327 234,230

= 1,026,892 1,106,762 279,870

307 QI2H0| A 4,889,962 5,270,297 A380,335
= 3,422,973 3,689,208 N266,235

= 440,097 474,327 234,230

= 1,026,892 1,106,762 AT79,870

05 QI”tPIEZ 4,889,962 5,270,297 A380,335
OZojel s X 4,889,962 5,270,297 A380,335
= 3,422,973 3,689,208 A266,235




2A:
PSR
ool

AtS| S X1t
XFOHO| EX'
OOl =X %

S - BE - BI(3) - NRAY - BAS O] a0 ol H o CImE==
< 440,097 474,327 234,230
= 1,026,892 1,106,762 279,870
ZoHe! sk =0 29,773 27,929 1,844
= 20,841 19,550 1,291
L= 2,680 2,514 166
= 6,252 5,865 387
307 QI2H0| A 29,773 27,929 1,844
= 20,841 19,550 1,291
= 2,680 2,514 166
= 6,252 5,865 387
05 QI”tPIEZ 29,773 27,929 1,844
OZoHel EsX& Jatan 29,773 27,929 1,844
= 20,841 19,550 1,291
= 2,680 2,514 166
= 6,252 5,865 387
ORI HFAIE 2 K& 973,776 1,033,057 AN59,281
L= 194,813 206,670 A11,857
i 778,963 826,387 NAT 424
307 QI2H0| A 973,776 1,033,057 259,281
T 194,813 206,670 A11,857
i 778,963 826,387 NAT 424
10 AlRISXAIEEHE 22X 972,616 1,031,877 A59,261
OFOH!l HFAIE 2H (2002 ) 972,616 1,081,877 A59,261
—oiE=d 476,129 535,390 A59,261
= 95,226 107,078 11,852
= 380,903 428,312 AT, 409
11 AEISXIAIE 2 1,160 1,180 A0
OFOHR! H=AIA ?::'Q—‘?’—ﬁ!l:ll(ZJH_/.\_) 1,160 1,180 A0
= 290 295 YaNS)
i 870 885 A15
ZOHR! XIFAISITHEAIE K& 1,216,047 1,213,047 3,000
= 204,298 203,698 600
= 1,011,749 1,009,349 2,400
307 212t01 & 1,216,047 1,213,047 3,000
= 204,298 203,698 600
= 1,011,749 1,009,349 2,400
10 Al SXAIEHE2FHIE X 1,216,047 1,213,047 3,000
Ox=0SAHH 2F(101L) 220,685 217,685 3,000
L= 44,137 43,537 600
= 176,548 174,148 2,400
ool MATHEANIE 29 318,522 312,660 5,862
= 57,334 56,279 1,055
= 261,188 256,381 4,807




SA: AR =X

X-I il—l : XI»OHO| EX'

Selr ZoHeISX % EER=E)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T

307 e12+0l1d 318,522 312,660 5,862

< 57,334 56,279 1,055

z 261,188 256,381 4,807

10 AISNAIEHEZSB2X 318,522 312,660 5,862

OTOH MSETHEAIE 2 X2 (1HA) 318,522 312,660 5,862

< 57,334 56,279 1,055

z 261,188 256,381 4,807

ZOHRl HFEAIE SAL SESE 36,360 35,280 1,080

< 10,908 10,584 324

= 25,452 24,6% 7%

307 el2+old 36,360 35,280 1,080

< 10,908 10,584 324

i 25,452 24,696 7%

1 AIBIS XM E 36,360 35,280 1,080

OFOHRI HFAIE SAK SELH(2H4) 36,360 35,280 1,080

< 10,908 10,584 324

= 25,452 24,696 7%

ZOHQIAIE SAHR MM 42,350 47,880 5,530

307 212+01H 42,350 47,880 5,530

1 AISTAMGER 42,350 47,880 25,530

OAMZBIZEXIAIE (9N 2) 42,350 47,880 5,530

JofeI=XE=E 29 49,130 56,1% 7,066

201 Ler2a| 42,040 48,19% N6, 156

01 AFR2telHl 20,400 23,556 N3, 156

O=lttzed 223 420,000+ 12 5,040 8,1% N3,156

2 55234l 21,640 24,640 3,000

OAIZEHI | 7,000 10,000 3,000

401 AlZHIL 2 CHY] 7,000 8,000 A910

01 Al&HI 7,090 8,000 A910

OFOI=XEHR S=(ZHHI) 7,090 8,000 A910

ZJOHUSXAIE QAXZBOIY 2 3,900 4,400 2500

201 Ler23| 0 500 2500

AtS2teld] 0 500 A500

Os2 W 0 500 500

ZOHRl HFAIE 2 KA () 93,852 0 93,852

= 65,696 0 65,6%

< 8,447 0 8,447

= 19,709 0 19,709

307 e12+old 93,852 0 93,852

= 65,696 0 65,69

= 8,447 0 8,447

i 19,709 0 19,709
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AtS| S X1t
XFOHO| EX'
© XoHCI= X %

M- SA(3) - MRAY - BES (1;| Palgely I & A Hlns
A ETAEHY2IHIEXR 93,852 0 93,852
OFOHIHFAIL 29 K& (19HA) 93,852 0 93,852
=2 65,696 0 65,6%
(= 8,447 0 8,447
= 19,709 0 19,709
HY2AZHI(AISI=XI) 165,662 167,222 21,560
=2 65,691 67,251 A 1,560
Jl=2y] 65,691 67,251 A 1,560
201 LEtE Y| 45,187 46,747 A1,560
2 32294| 8,020 9,580 A 1,560
Oe-JRRBEQS(HQIXA L BHEXA)
370,000 *12& 4,440 6,000 A 1,560
HRES(ASI=2XID) 3,355,372 2,488,723 866,649
ESw NS 1,466,943 1,503,904 136,961
IEISIH &2 1,466,943 1,503,904 136,961
701 JIEFRIHSEES 1,466,943 1,503,904 136,961
01 JIEIBIHAEES 1,466,943 1,503,904 136,961
O2230I 229 SEIH =23 865,672 902,633 A36,961
=FSONES 1,888,429 984,819 903,610
2 CHEXZ pEa 1,888,429 984,819 903,610
802 gter=0|E 1,888,429 984,819 903,610
01 2NLEX3EHEZ 1,611,567 813,007 798,560
02022 798,560 0 798,560
—Z OIS AL 279,717 0 279,717
— RO QI & S XIR A (O KH) 14,8% 0 14,894
—ZOHQIESXIR JIHAHE0 192 0 192
—ZOHQIZ S XY JHARZ 04 (01 RH) 20 0 20
—SSTOfQ FASSHEIAXA 8,938 0 8,938
— STl FUSSMYIAXIR(0IX}) 595 0 595
—SIIfQ B = SEMHIAXA 63,063 0 63,063
—SaXofel U = SEMHIAXIR(0IX
) 504 0 504
—ZO0HOLSIIEXI (LY THEMYIA) 1,175 0 1,175
—ZOHOFS ISR A (L THEAEIA) (01 X}) 288 0 288
—FH30 XA 404,756 0 404,756
—Z=H20] RIYAF(OIXH) 11,623 0 11,623
—s0E el =EONZ(0IA}) 100 0 100
—LEFHAAZ L HEI0IE KIHEAIE
SHAIXI R 1,758 0 1,758
—2HFAHS L 0201 KIIIAADIE
SHAIXIZ (OIX}) 25 25
—HENSHL RN 9,541 9,541
—HEOIS AL X (0IX) 17 17




A ABISX Y
SRR xwggwasxmm
el 2dAsE (ol ® )
A - 3 - S2A(FH) - MRAIY - B (1;| Palgely J 3 N Hlus2
N HEESIPIPE 1,352 0 1,352
—MASTOO REA L2H| L A
N 2 0 2
02 Al - SHIEX20re=2 276,862 171,812 105,050
02022 105,050 0 105,050
—ZOfQIE S RIR ALY 35,964 0 35,964
— ZHOHOIZHS K| RIAF (01 KH) 1,915 0 1,915
—RfIB=XR TS0 24 0 24
—OHQIBS XY JHAFS0(0IKH) 3 0 3
—SHE ROl FABEAHIAXIR 1,150 0 1,150
— R0l F=2HEHE A HIAXIR (01 XH) 77 0 77
— SRRl Y B SEMUIAKE 8,108 0 8,108
—gIeEROfol gt B SEAMUIAKIR (01X
) 65 0 65
—Z OIS SN (LLTHEAYIA) 152 0 152
—ZHOHOFS IS X (LS THE AHIA ) (OIRH) 37 0 37
—ZojQl HOSRI| SN AME 29 308 0 308
—ZOjO! HOIZRI| SN AME 2L (0IX) 4 0 4
_UFCFX}OHO| /\|.2|xl-0;1 J_LE]EH( PEE%)
(OIXH) 1 0 1
— Ao NEZ2 2% (0IX) 3 0 3
—ABIEXIAL B4DS X 905 0 905
— A= XA 410 X2 (01X 7 0 7
—Z=A30 KA 50,59 0 50,59
—Z=H304 RIA(OIXH) 1,453 0 1,453
—S0{ZE Z0§el FEIHE(0IX) 30 0 30
—ABIZXIAIE EAR AGHEE KIS 0 0 0
—2UFAHE L ORI0IF RNIIBADIE
SHAIXI S 528 0 528
—2AFAHE LU ORI0IF NIIBADIE
SHAIXIZ (01 XH) 8 0 8
—HANISAHAN 716 0 716
—HEDISAAXIZ (01X 2 0 2
—SFSERIOHQI Al 2,904 0 2,904
—HASTON! RSN L2H| L A
xigl 1 0 1




